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All transistors have W/L=50,
unless otherwise indicated
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a) What is maximum value at Vout in the pﬂsmve directior: which still has all
transistors in saturation?
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b) Choose the W/L of M1 to maximize the swing at v,;; in the negative direction
which has all transistors in saturation?
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Problem 7)
Svolts )
- "
i | i
M l M9 All W/L's=50 except for
- M6
pued T
e || 10002
V1n —'AM’_" l"l'a ’- V I
IMQ M |, M};m § \|
é}- d— "
W/L=1 .
add f3=10
=5 volts
%
a) Where is the first pole of v,/v;,? Q’ 7 Sec
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Problem 10)
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a)What is the minimum slew rate of this circuit? zé 4
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b)What is the phase margin of this circuit? 7 O
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